Efficiency vs Dxy(PV)
S 0.2p

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baselinel

[Efficieng —— DQM_V0001_R000000001_Global_mkFit_batchl

=
o
B
o
4
>
>
Q
c
Q
=)
g
2
T
24
0951050604020 02040608 1
TP dxy(PV) (cm)
s Ly :
& I :
§ f :
e 1— ------------- I-----. -------------------
> I .
> T :
Q F .
K S e P RREES
L r .
g f :
(5] o .
0.6f-- - e AP Lo
0.4 N SRreh FER
0.2f--e e P ErEE Feeens
I i i ; i i
g+ '
T
14
LR | B - R Rl TR
0¥ =20 -0 0 10 20 30
TP dz(PV) (cm)
S 1. 5 -
o :
¥ :
@ 1 --------------. ----------
@ :
> .
Q .
5 08  ELREETT PEPRRPE
) :
g :
0. Seeenns R

o
»

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


